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Refresher:- Proof by Induction 
Theorem 
1 + 2 + .+ ==n(n+l) . . . n 2 ' n EN 

- Proof . 
.,... True for n == 1 
... Assume n = k holds: 1 + 2 + ... + k = k(kil) (Induction 

Hypothesis) 
.... Shown== k + 1 holds: 

1+2+ ... +k+(k+1) == k(k+1)/2+(k+1) 
(by the Induction Hypothesis) 

- (k(k + 1) + 2(k + 1))/2 
- (k+2)(k+1)/2 
- (k+1)(k+2)/2 

LJ 2/2 



{t) .. Revising bl ·,nd.uc-HCJYV 
§ .. f<_evt.sing :J7nam:c P\-03rafY'Im:n_g 

@ . Ex-e-re! s:e... 1. 3 fj .b 2 ( sdv:h on 
[for (J_ s·, m ·, lo.r 9u..esft OYL 

'in prob\eWl se+) 
Problem 2..1 J_ / 2.]){ I J 

l- 3 

=-SWte.- sr-=- s I< =' { R; B J R - t'Yio.d'1ne ronnin3 
B- mcxl-,',ne._ 

eorr+n, I, -Spoce. U-1< ( ::yJ 

(t<) -= [_ n/ IYl] 71 - no 
m-

U-K OS) = { YJ ,k J 
cllrnrn1cs 

GUktt:-. 

(j) . =- k 

-r- r-e.r•r 
t-

= B ! 'X.K .:= R / LAt< = "11\-) = o. t 
f(wk-: fZ / ut:- = t'fl) e- \-a. t= o,.b 

B R, l4-: =-- n) =- b_·r 
= 1< ( R 1 lLk =- nj =- 1- o.:r =-

f 1 1 l-4: == r) =- o.t 
f(wk = R \ B1 L4-= r) =- 1-o #f =-. 0 rb 

R.. -=.l) = .i 
fL Wt= B J L4.:- = .iJ.--) =- j_- j_ =- 8 

= ·, n f u.-t cas+- Cu.. t _gk 

C.h=-0 

Cm=20($) 
Cy-=4-o [ -: 

c.1. = 1 s-o 

no.L. eod- .:JN LR) -= 8 ., 

= K 
'f B 



-J.1. c B) =- 0 
:Tg(•) 

Lc.Jea.k3 

® 

® 

= -
®::Y-tCR) =(] 

@J4-(B)=O 

k:f-i;. (:o.Jc,_tf.,.ie,_ J3 (R) '1n Jela'.l- · /_ 

E [ c.ort- + -=r1- ( GJs ) 3 Tsc=FZ..)-= 
u3 E li3 CR) 

= [n, M] 
Us. ins Tt (w3 ) :O r, J 

T3 (R) -= min f :>g R -t T !Al3) 
[ [ 

· stcq.e,cos·{ ( 

Q3 t 

t: [ ros+ v:>hs2. n ' 
+-- +ts R . -+ 

GJI< U-g =fll.A. I 

J 
J J 

) 

- [ f( U-l:g == R I ::('3 = f2..1 u. g -=- Y\ ) (-{DO + 0) + 
PCLDs=-B/::t3 -.R1 u.-a-"-') Lo) ' 

= Wg 

- m.n-v l 
[T3 ( R) = I 

PC c.V3 = R } xg =R / u.37m) (+2o.:.... leo. '+-o) J 
PL w3= B ) ::L3 =- R/ tJ.3 -=m) ( +w) 

cr. 3 C -1oo) o. b ( -rro) -t o. 4( T2D) J miYl tso/ --fo 
l!S (R) 

Gajamohan Mohanarajah
Non visible part:

Terminal Cost: 
J_{4}( R ) = 0
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J_{3}( B ) = min_{u_3} E_{w_3} {Stage cost + J_{4}(w_4)}
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